
 

  

 

  

 

  

 

  

a = 0,3 m 

S = ? m2 

a = 0,09 dm 

S = ? dm2  

a = 5 m 

S = ? m2  

a = 11 mm 

S = ? mm2  



 

  

 

  

 

   

 

  

a = ? mm 

S = 36 mm2  

a = ? dm 

S = 100 dm2  

a = ? m 

S = 0,16 m2  

a = ? km 

S = 0,64 km2   



 

  

 

  

 

  

 

  

a = 6 cm 

b = 3 cm S = ? cm2 

a = 3 m 

b = 0,2 m S = ? m2 

a = 0,9 dm 

cm 

b = 6 dm S = ? dm2 

a = 0,8 m 

b =0,7 m S = ? m2 



 

  

 

  

 

  

 

  

a = 8 cm 

b = ? cm S = 48 cm2 

a = 9 dm 

b = ? dm S = 3,6 dm2 

a = 8 km  

b = ? km S = 2,4 km2 

a = ? m 

b = 0,7 m S = 0,63 m2 



 

  

 

  

 

   

 

  

a = 5 cm 

o = cm?  

a = 0,3 m 

o = ? m 

a = 0,09 dm 

o = ? dm  

a = 11 mm 

o = ? mm  



 

   

 

  

 

  

 

  

a = ? mm 

o = 36 mm  

a = ? m 

o = 0,16 m  

a = ? cm 

o = 400 cm  

a = ? km 

o = 0,64 km 



 

  

 

  

 

  

 

  

a = 6 cm 

b = 3 cm o = ? cm 

a = 3 m 

b = 0,2 m o = ? m 

a = 0,9 dm 

cm 

b = 6 dm o = ? dm 

a = 0,8 m 

b =0,7 m o = ? m 



 

  

 

  

 

  

 

  

a = 15 cm 

b = ? cm o = 48 cm 

a = ? cm 

b = 4 cm o = 18 m 

a = 10 dm 

b = ? dm o = 36 dm 

a = ? m 

b = 5 m o =  54 m 



 

  

 

  

 

  

 

  

S = 1 cm 2 o = cm? 

S = 16 cm 2 o = cm? 

S = 0,36 m 2 o = m? 

S = 0,81 m 2 o = m? 



 

  

 

  

 

  

 

  

S = ? dm 2 o = 12 dm 

S = ? cm 2 o = 4,8 cm 

S = ? cm 2 o = 4,8 cm 

S = ?  m 2 o = 2,8 m 



 


